EARAROBEEIERT — 2 N— IBISH —F

20135F2A 140 (K) 19m55#4H

m$ﬁ7 5> A1 ¥5FR—MKOP BRI R
[A&4£] 1 7% :800,000™ ~ 23%&:160,000  ~ 3#&:80,000H  4%&%:0M” / 5&:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SILN 4 4 | BRR— 1:56.2 2-3-1-1 [ 38.3| — 3 473 | EERS (BHE)
16| *EV—TIN 55.0 [ Lo | @ Pyro5T
Rix>in4o— B:xEYU—FI7U—F [ Z LN
RN # 5 | BHEN 1:56.4 4-4-4-3 | 38.1| — 5 457 | REER— (55H)
2 o| L= >T T > 58.0 (1 1/2) (6) | NEB=
L2 T b F—F7—K—K B:IA4>>T3T7>F RAEWE
N : IR : —6-6- - HAEIESE (S4R)
317l 7| NoHLT2— k2 > 7| EIA 1.(5;).1 6-6-6-6 | 37.9 6 <4+912) Lﬁ% A
Ry T hT— BIN-TLECb IS H LS
= s 4 o6 | FEERH 1:57.1 1-1-2-2 | 39.4| — 1 533 | 1REERR— (%4R)
4{1)1|7T7U-RX2 5 57 o |EEEE
RNIE&—TATI742— B:T77—LHLyY ) L4
2 I # o6 | [ 1:57.4 3-2-3-4 [39.3| — 2 493 | JIIUBBLTE (56H4)
5(8|8 77A-F3 56.0 (11/2) (-p) |EE=C :
L:viNnNyBgrhTr BV My TLTFq a0k e ]
D00 S N EHRE :57. —7-8- . — IR R (%1
N . A PEn 5 | B nge | TTeT famol - |8 | o LEHA (K
L:ZXF¥ v BATVEATY TS
TN EBH : 55— - REEE— (55HR)
7 NEESST B 7 ;_Of 1(75{:? 5-5-5-5 | 39.0 4 ;1_828) o A
NiTANRTyYa B:YaTIlel RS
Vis . # 8 | REAZ 1:59.4 8-8-7-8 [39.6| — 7 479 | FEBC (BHE)
8l5/5|/VYINAY— 58,0 @) @) | B x=257
R:1— kALY — BAXIAHI pulsbie)
@ 1—F—@&BIEf
13=zr= 1,6,8,2,4,7,3,5
Aol=5r= 1,8,6,2,4,7,3,5
G§a=7r= 6,1,8,2,4,7,5,3
41—+ — 6,1,2,8,4,7,3,5
[ RN
B OB 6 590H 714K 2-6 1,880H B E 2-6 5,120M &R 2-6-7 16,830
8 B 6 180M 6-7 1,220M B H 6-2 10,150 JEH 6-2-7 99,020/
2 260M 2-7 2,190M
7 250M

ABICOVWTRDTEEERROODE. TR LIV,




